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324 5 )=t EINE|=&m TR 28.56| |[394 g TR LT KS [ 987.84 464 | Hh AL whd JA 65.00| |534 N JA 57.46
325| e HE e R | fEETH TR 27.84| |[395 QN3 BRI | B e JA | 902.72 465 U | Bl L kil JA 65.00] [535 WER fREE | YL | 57.38
326 5= GS BT = FJ 27.24| |[396 U HEE  FIIR BEFET YL | 901.68 466 |2 ERE (e JA | 65.00] [536 TR WEFER YL 57.38
327 = ikt | F)IR | S KS | 26.62 397 HEEM  (F)IR | BEFh JA | 901.68 467 B ey 2 ISP TT JA 65.00| | 537 55 | REFER YL 57.38
328| sEmk [EiR |FJIR[E®EFD | YL | 2652 |398 I RE A T o JA | 648.96 468| | R R B JA | 65.00| |538 |EBR =k JA | 57.20
329| SERR  [HEHh FIE =EFH CN| 26.46| |[399 \HEFEH BB | AW YL | 606.90 469| 1 e 1, (e P JA | 6500| |[539 | B R | Wi YL 57.12
330 &= i@ F)E | EdEFH YL | 2550/ |400 BT e AEE S YL | 603.50 470| 1 SR [ RIA JA | 6500 |540 F)IR AL TR | 5712
331 = Bt F)NR | BEFm TR 25.48| | 401 o mim e | FIRIR | F AT YL | 603.50 471] 1 e R | REE JA | 65.00| [541 F)IE |[ShET TR 56.84
332|  SERR  |FE(RHD [FIE (fhEER | SQ |  25.00| [402 L% [BEE | HEER YL | 601.29 472 HRIEIE JA | 65.00| |542 ) (BT Fm TR | 56.84
333 = FE B | Z#FAR YL | 24.48| [403 j AR X YL | 601.29 473 R |BEFH | JA | 65.00] [543 EIR BESh | TR | 56.84
1334 5 B LA YL 24.48| | 404 RS JA | 565.76 474 TR |4 P AR YL 63.75| | 544 HIE[BEFT | TR 56.84
335| &= B IR =8H SF 24.48| |[405 mER FIFE JA | 548.08 475[ L TR [ ILTH YL | 63.75| |545 )BT A TR | 56.84
33| = wEpkH | FIE =B SF 24.00| |406 )R & YL | 546.21 476| L | SHER | FIIE & YL | 63.75| |546 EIAE T TR | 56.84
337| TRk (A fﬁ%%ﬁ- el i T YL 24.00| |407 BRER FET YL | 509.49 477 | )R [ (B EER YL | 63.75| |547 FIE /NTE TR | 56.84
338] = B E)[ R EEFd TR | 24.00| [408 i EER M YL | 502.86| |478| 1 EHh EMGET 3T YL [ 63.75| |[548 F/IIR #E@Fh | TR | 55.00
339 7= AREE|T)R [ ARH HQ  23.04| |409 2] BB PR JA | 502.86 479 HE TR R R YL | 63.75| |549 FiRl [ HEiRET JA 53.04
340 7= Bk R =2% TR | 23.04| |410 I B EER (T JA | 495.04 480 £ [ HmEREET YL | 63.75| |550 TR BT JA 53.04
31| 5% i B =8H TR | 23.04] [411 Fi | Lk FIE =8H YL | 489.86 481 L1 AERE| )R (BESFT | YL | 63.75| | 551 )R Z@=m | TR | 53.00
342] = B [EER[=FE | TR| 2295 |412 i#k — FNR [ JA | 486.72 482| 1 SR [F)IR ARMER JA | 63.75| [552 FINE [ =& TR 53.00
343 = THER|EIE#EFh | IR 22.80| |413 UEmEn [F)R([EEFEh YL | 47252 483[ 7 ik FE FuahH YL 63.75| |553 R [ =Z&h TR| 5292
344 = EZ I L TR | 2280 |414 R FR | =8 m JA | 459.68 484 L Hi R | YL 63.75| | 554 BIHE T TR | 52.92
345 SERk B /R [ERFm | TR | 2160, |415 B [pRSR (BT YL | 419.90 485 HEST EEE FEm YL 63.75| | 555 AR SF | 52.80
346| S5E FREE|F/R BEFH FJ 21.12| |[416 ITE;S F)INE =2m TR | 375.00 486 D [EETADE T YL | 63.75| |556 FIR BEFh TR 51.00
347| ek |BH | BIIR[AAT TR | 2091 |417 H 5 R i i JA | 318.24 487 A EIINE [Erdbil | JA| 6240 |557 IR EESH | TR | 5096
348| v 1] F)INR =81 | TR 20.40| |[418 B HERE YL | 304.98 488 ¢ wh 1@ )R ®madsbifi | JA | 62.40| | 558 FIR EFFh JA 50.96
349| 5 FEpRH ém;ﬁﬁ%ﬁ#ﬁ NX | 20.25| |419 ITE: IR EakEf TR | 303.75 489| I il F/IE |[Fashi | JA | 6240 |[550 e 1B HREFE JA| 40092
350 %= i EIE #EF TR | 20.15| [420 B [EBE =ifh JA | 291.72 490 i FIR &R JA | 62.40| [560 R R AR JA | 49.92]
[:\“1’-1!,}111;]—]?[,{5!]] s d;;—g—za ARLFIRY ER A, -‘/»r;;\ WEDEEMKEA SR LA A — LOOEMBE OB ELH0 £, MR ETH, PERR AR IRUOBEAHIETH, B TR ES

No. R A—F— A—h—F No. : F—h— A—H—EE | : —A— —H—

. = i Lt 2 == L Ho. | A4 . e WML (RRRRRoARR) | 379 | 42,592KW

2 SF Y—F—7arT4T EES 7 TA e H = —F— .

3 MGJ =EEHE EES 8 SH — Hi 15 g‘ri fps-ﬂr—“fj??/ ig LTHeR-RHPRAE () 246 | 47.041kW

4 PN RV Zys EES 9 sQ —F—F%a—7 J—F— '

5 FJ TV A Ak | [10 TR ER %g 12 :ig ”:x/‘/;;' iﬁ% — Panars <M r b () 291 62.505kv
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O FRIZAEEEMAHRMFHEEM S UBEOTEL, THh, TEEFBRES, GLUNITRIREHEBBLTOET (FR2TF4A308RE)

O ERFMEEHAAREM T, TAEANRIC, ERAES (—HEHD) ERBELTLEREERLTOET,
No. | EHIRR | BES H At - No. | EHIKR [ BER REERT Y-S No. | EHIKR | BESR B N BE No. R
561 | 9 (i) | B R [FmRm JA 49.62 631 3EF A A F [ ILFk .5 R [T SF | 600.00 701[ &7 HOA T | Bl FR[#EEFm | 1R %o_ol 771 YL; %
562| T4 () B |@mER(EST JA| 49.92| |@32[ERMAT|MEM |F)IR[ =8 JA | 587.86 702 @A ALAT | BE  [F)IS @mEFSm | | 46.80| |772): YL | 6375
563| i) | & e e hi JA 49.02| | 633|iE A AT || LFK WEE=FE | TR | 546.21 703 | 18 % HOA | 2 Hl IR E@Fm TR | 40.00| |773|: YL 63.75
564 i)+ | b L [ BRI JA 49.92| | 634/ 3E % HHA P | LAk EIR =Z&8F JA | 489.86 704 | EF ALA T | EH &)IE BEF TR 35.50| [774 YL 63.75
565 HEET R e YL 48.96| | 635|H A HLA D | EHY/ B EEE E%)H TR | 487.31 705| 18 % B A 7| 22 Hir &F)E BEFH TR 3550 |[775 YL | 6375
566 T () | B EEE ([ EWMm YL 48.96| | 6367 HiAd1| LAk IR AT TR | 378.68 706 7 F A g | EH IR [ =&h TR| 3536 |776 YL 63.75
567 | L3 (145 | Bk i 7 [ S8 YL 48.96| | 637 |iEAH A | )R E@Fi TR | 354.90 707 [ 8% A T | £ Hl F)INE ZE&f TR | 34.00| [777 YL 63.75
568| [ () U MERERL TR IR BT T YL | 48.96| |638[EFHLAT|ENE  |EEE HFE TR | 339.66 708 EZ AT B |mslR [fnakiis | TR | 31.88| [778 YL | 63.75
569| T | | RS [FTi YL 48.96| | 639|H 7 HA | EHE BEE =fFh TR | 325.13 700 | HE & HA T | RIR mEoL [ Fnglss | TR | 31.88] [779] YL 63.75
570| L0 [ AEHL (R EU)IT | YL | 48.96| | 640|MAA AT MM |fE R = 4R TR | 32513| |710[@AHAH| B  |F/B | St | TR | 24.96| | 780 YL | 6375
571| % M HEE | FHIE YL 48.96 641 1H % AT [ Hl BWEE FH)H | TR | 257.40 71187 FGA S i fRHL | RS IR [T TR 22.88 781 YL 63.75)
572 HEET A ki YL 48.96| | 642 A AT |EH FIE [ =Z2F TR | 164.48 712 | F B A T L4k &I & | &fad TR | 2180 |782 YL 63.75
573 VA AR (R YL | 48.96| |643|diEELAT|EH |FIIR |[Eid TR | 147.90 713 dEFAuAR|EM  |F)E[=8dm [ TR| 19.13| [783[: YL [ 63.75]
574 3 T 1Y YL | 48.96| |644[EZEAT[EH [F)IE [AAH TR | 142.29 D T EIA S TR | 18.00| |[784 YL | 61.20,
|BE R BT TR | 48.96| |645/#ZH AT | Ltk FHIE | =ZEH TR | 127.50 715| L B A T | FIR | =8 TR 18.00| | 785|i YL 61.20
TG A TR | 48.96| [646[@EpmAas| Lk  [HIIE|[=&H TR | 101.25 TG E A AT [ER )R [ Em YL | 17.85| |788[ YL | 61.20
FE[Z&H TR | 48.96| | 647 |75 AT | AR TR | 66.56 717 | 3% HUA T | i EEE | =5 TR 13.26| | 787 YL 61.20
FIR[ e TR | 48.96| |648[E#%HiAh|EH: wEE | FH)IH TR | 66.56 718 i % A P B HL BEE | = TR | 13.26| |788 i TR | 61.20
EIEE [f L KS = 48.40| |649|#RH AT |EHh B |81 TR | 66.56 719 F A | EHl BEE | =48R TR 12.48| | 789 P et it | ) 118 [ AR EHER TR| 6032
EIR[Z&H TR 48.00| |650[#AHAT | MM ([EREE|EH/m | TR | 65.28 720 % FLA | EHE ) [ fh R TR 11.18 EH )| 2 | #EaREr TR | 60.00
B[ =8F TR | 48.00| |651[#-AMAAT | HMEM |[fESE[F%)IMm | TR | 65.28 721 ER AT | B ERR|ERE EEH TR | 10.00 Hffith |BBR|EET TR 60.00
IR =8H TR |  48.00| |652|@E%H AT |EH FIR|ZHEEH | TR | 65.00 722\ A FAT | A EER|EER EEH | TR 10.00 M |EBR (EBT TR | 60.00
|ENR BEETR TR 47.04 653 [ F A | B TR HEih TR 63.75 723 é%EFJAEP HE HINE | /FER TR 10.00 HefEHh |2 Ef TR 60.00
B | =4 JA | 46.54| |654[WERHLAT|MEE /IR |G TR 61.20 R I [ FRERRT KS [4,832.32 SF 59.84
FIE [Hhpsbomi | SF | 46.24| | 655 EF AT | EH EINR AT TR 61.20 ZiE R [MEG dd | KS [4,832.32 SF 59.84
BREE[ZA&H | HQ | 46.08| |656|3#%FAT|EH FR &R TR | 61.20 IR [ Z&H TR |2,496.00 TR | 59.84
ZIE R R JA 45.90| |657|ERHAT|EH )R [ LA TR | 60.00 FEE BLE KS [2,416.16 TR 59.16
iU (ME$ R | TR | 4576 | 658|814 | EH B AAF TR | 60.00 FiE B L KS [2,416.16 YL 58.14
FhE B Bl JA 44.88| | 650|E7 A | EH &R ALA TR | 60.00 FWLE #EOd KS [2,416.16 YL 58.14|
BE R T YL 44.88| | 660 EZALAT|HEN |[HERE EET TR | 60.00 R | R KS [1,798.65 R [ EHIIW YL 58.14
F)IIE AL JA 43.68| | 661|EAFAT RN |BEE EET TR |  60.00 F)IE | FAD5HT | TR [1,300.00 mEE | EEH YL | 58.14
F)IE A@H JA 43.68 662 | B FHUAT | HifEM |EBE |EET TR 60.00 A e i KS [1,239.04 R R [ EE)TH YL 58.14]
)R & TR 43.12| | 6638 FFAH|EH FIE AT TR 60.00 EER FETh KS |1,220.65 == dlhn YL 58.14
FIE |[Shsm TR [ 43.12| |e64|#FEHAT|EH |FIR A&T | TR | 60.00 B 4 HED TR |1,000.00 WmEE|FE)m | YL | 58.14
SR [AREFER SF | 42.84| |665[EFAAF|EH  |FIE [ AES TR | 60.00 R [ 4 SR TR [1,000.00 BER | =ih YL | 58.14]
IR | BEFT YL 42.33 666 | 357 HH A | i EER | FH)IIH TR 59.28 R A FE TR | 990.00 e | F5%)h YL 58.14
HIE T TR | 42.25| |667 | A$|EH B R | IREFET TR | 59.16 EEE AR TR | 990.00 /IR [fhZE#H | TR | 58.14]
mEE(EER JA | 4221| | 668|HF FA T | | F IR | XnETH ? 59.16 BEE[MES | YL | 601.64 /R [fh%ER | TR | 5814
BE . | FREFER 41.60| | 669w R AT MR |fE R Wik TR 50.16 BmEE[MESR | TR | 561.60 F)IR|(FZEER | TR | 58.00
HIR | BEFH TR 39.20| |670|EFR AT |MEREM |fEER FET TR 50.16 BEE | | YL | 53754 IR fhEERR TR 58.00
®|F)NE =8h TR 35.96| | 671 AA T | EH e R | AREFER TR 59.16 R | M T YL | 49853 TBE R AR YL 57.38
FINEBEST | TR| 3528 |672[@ERdAT |2 BE R R R TR | 59.16 EEAEY i TR | 399.84 s R | BB ER YL 57.38
B E | = HFET YL | 3366| |673[#ERHAT|BM  |EEE REE TR | 59.16 B R [REFED TR | 339.66 B [(REE YL | 57.38
FIE [ =&8H TR | 32.60| |674[#%A0AP| R R HREFER TR | 59.16 IR TR | 306.00 BE R R YL 57.38
/B & TR | 32.00| |675[&E %A Eh B R R TR | 59.16 FJIIE FADSET | TR | 306.00 R | R YL 57.38
FNE &R TR | 31.62| |676[EZMAF|EH  |EEE REE TR 59.16 FJIIR | FLiah TR | 303.75 85 R | HREFE YL 57.38
HINE=Z&HW | TR 29.58 677 [ EF HIA| LK FIIR |ZhEh R 59.16 ENR Afmh TR | 303.75 HEEE [REFET YL 57.38
&R EE@Fm YL 26.52| | 678 ERAAY|HEM |FE ([ =8H TR | 58.00 )R EBEF YL | 303.45 {8 | i YL 57.38
F)E[E@¥Fm | HQ| 2573| |[679#&ZAAH|HER |[FE [ =—&m TR | 58.00 EINE e TR 297.44 EEE Rl YL 57.38
FIR #=EET YL | 25.50| |e80[@EFeEAd|iEmE |[FIR [ =8FH TR | 58.00 B R P YL | 293.76 s 1B | T iR YL 57.38
EF)IE BEFm | TR | 2548 |e81|@zsAd[MEEN |[FIIE [ =8F TR | 58.00 EEE [ EH/IH YL | 29376 BER T YL 57.38
EER | =fE YL 24.48| |682|HAALAT MM |FJIE =&H TR 58.00 B2 | BB AR YL | 290.45 WS | REE YL 57.38
FIE [ =8H SF 24.48| | 683 MR HAT MR | F)IR =BT TR 58.00 HEEE | =4h YL | 290.45 RER | BEPER YL 57.38
B [FEhaibih | JA 21.84| |684[ERF AT |EH BT =fER TR 57.38 G T YL | 284.11 ERE|EaT YL 57.38
F)NE L& JA 21.84| | 685 R HLAF|BH )R E@Fh TR 57.00 mER(ErH | YL | 281.78 EER | EET YL 57.38
FINE | L& TR | 20.91| |686[EFALAT|EH &R A&H TR | 56.00 BT TR | 275.40 EEE | EEH YL 57.38
EEE | =Rk JA | 18.72| |e87|EAAuAT MRS |FIR =8H TR 56.00 A A TR | 270.40 mEE (e YL 57.38
FIE [ EwFm YL 18.36] | 688|E A AT | L BIRR (FEIET TR | 54.06 I il TR | 241.80 mE R  REFER YL 57.12
E|E & JA 18.20| | 68O|3E 7 HAH1 | L#k &R @ TR | 53.04 EER I EER KS | 208.80 EEE REFAR YL 57.12
TR R TR 13.26| | 690|EF HuAH A BB E | =42 TR | 51.48 R | = 4R YL | 208.08 e R =4 YL | 57.12
F)R BEFT TR 12.48 691 | H R FLA S| B IR BEFTH TR 51.00 761 e BTk TR | 112.32 R BT YL 57.00]
=i TR | 12.00| |692|:ZHAm|E R HIE TR | 48.96 762 e R kT TR | 68.64 a1 YL 57.00
E)E &m TR 9.00| [693EFAAF(ILFR  |Rsus A EER TR | 48.00 763 SR P TR | 6864 SRR X TR| 57.00
&)IE | FL& T — |= 694 | i 7 B A 1| £ EIRIER X TR | 48.00 764 B |BE%H | HQ| 67.38 IR [ AAH TR | 57.00
T e () o ERE M — = 695 | # 7 AA 1L bk ikl | A & ER TR | 48.00 765 EIAEY i TR | 65.28 FIIE [Fmiam TR | 55.08
626 ER LA (MM |ZERE (UETRT | KS [2,508.80| | 696 dma Al |EEM &I 2% TR | 48.00 766 AR Xidd TR| 65.28 F)IE [ A&T TR 54.06
627 | 18 7 B A T MERE R r“.%&?— i FEAR KS 2,508.80| |[697 | AT |iEH éJH;rE%ﬁ TR | 48.00 767 I [ FE TR | 64.48 TR W TR | 52.00
628 #7 HA | HEF F)R [ FAOIT | TR 1373.18| |698|EAA AT (MM |&)5F =& TR | 48.00 768 EEE [ EHm YL | 83.75 EER | M TR | 52.00
620| 8 7 A | B | )1 AR EER TR [1,300.00| | 699 HiA [ e i éf_),_l_lé?—'*&f TR | 48.00 769 - AT YL | 63.75 E)|B [ E@Fh | YL | 51.00|
630 F AT | MEfEHL  |BIEE (LT KS 11,254.40 700/ B 7 A | B Hh B | BEFH TR 47.00 770| & - AES YL | 63.75| |840 EEE E5)ITh YL 51.00
[/ i*}w—%—ﬂﬁll >;a 4;:—71—= HARLERY EEA, v —7, HEOEER R S F AR A— D —EOORMBR OB S LA ET. ¥ ETIE, PECAF L aUOEB ) hI £42%, B TIBET
No. FLEBI —h—% A—h—EE ) : —h— —h— : —h— —h—E
1 K§ | = ®E7 H*Eli* Ng J:]gl 2;5 2 jéflﬁ ':c{ Qﬁ_—l ;;;,j z 1@#% EERBIE R (2 RRIRR O A M) 379 42,592kW
2| sF J—5—TarT AT GES 7 TA mE CES 12 YL L) —y—F— — -
3 MGJ SETR -E SH v—7 EES 13 CN T AFF4Te ;Eg il b 2350 47041k
4 PN RFI=v7 EES 9 s5Q J—F—Fa—7 A 14 J—F—
5 FJ TUFLT A EES 0] TR R - 51 +a e e R R 291 G005k
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BER24E7TALIR(ZEEENRBER OLUHNEELEL (4) OTHUEEEREEENHEEANUEORET, THh THAHEES, 45 FCRTEAEBRLTOET (TR2IF4H0EE)

O ERFEEHAAHFM(L, BIEARIC. ERFRE (—HERD) ERELTLSREGERLTVET,

No. | ikt | ¥t REEm _ [ntl] BE | [No | EBKR | BES TEEH  [nil BE
L HER | EFH)h YL 51.00| |91z st = | SRR R R M BT TR 21.60
EER | S8 YL | 51.00] |912 B HIE |[&am TR 19.38
b IR, | BTz v YL | 5100 (913 Bl |HIR|[BEFT | TR | 14.28
| mEE R T YL | 51.00| |914 | i EINE|h2ER | TR
| BRI | REF AR YL | 5100 [915 | B )R | hEER | TR
TR R R AT YL | 51.00| [916|issiar|@Ein  |F)R[HEER | TR
EE R REFER YL [ 51.00
&R i TR | 49.92
B R REFER YL 48.96
R [ HREFER YL | 4896
EEE|EETH YL 48.96
HEER =BT YL 48.96
(I AESn YL 48.96
EEE|(EET YL 48.96
mER|EEh YL 48.96
mEE EET YL 48.96
EEE EEH YL | 48.96
B | BB YL [ 48.96
EER REFER YL | 48.96
EE R | IREFER YL 48.96
HEER IRFE YL 48.96
HEEE [T YL 48.96
HEER REFER YL 48.96
R REFEL YL 48.96
mER EEH YL 48.96
WER EHH YL 48.96
EER | EET YL 48.96
MR | E5T YL 48.96
mER =BT YL 48.96
WmER|EETH YL 48.96
BER =BT YL 48.96
WmER|EET YL 48.96
SR (P YL 48.96
A g YL 48.96
S (T YL 48.96
mAE [ EmaT YL 48.96
AR | S R YL 48.96
AR EmaT YL 48.96
WEER ERET YL 48.96
BmER EETH YL 48.96
mEE EET YL 48.96
EEE EETH YL 48.96
e R IR ER YL | 48.96
e AR YL 48.96
L weh YL 48.90
FE)NE =8H TR 48.00
FIE |mh TR 48.00
IR &Eih TR 48.00
E)I R ARMER TR 46.80
HER | =4H HQ 46.08
EER | =HFH HQ 46.08
EER | =Fm HQ | 46.08
EER | =Fm HQ | 46.08
WER | =HFH HQ | 46.08
HER | =hgm HQ | 46.08
BRI =FH HQ | 46.08
R =4 HQ | 46.08
BER | =FH HQ 46.08
mER =FH HQ 46.08
B R P YL |  45.90
EE R R YL 45.90
)R BEFh TR 45.00
EFNR BEFH TR 45.00
)R BEFH TR 45.00
)R FEER TR 42.00
)R | EARER TR 40.80
&R | BEFh YL | 3825
ENE BEsh TR 38.25
i S | Eiam TR 2448
NEHER|ESRE /MAET | TR | 21.60
[+ i*}bi;ﬁﬂ—ﬂ,{ﬂ] XEM;:—%—= A ARLL IR S A, -'/«%7" TCEDERA R S F AT A— S — EO0EMBRE OB SLHY ET. HAETIE, PECAF 2 U A B ET2. A THLARET
No ; A—h— A—h—HE No. R A—h— - : —h— = -
& L5 2= 2 © fr‘ﬁ *’;’ zf‘ A "éf'? N Qﬁ:} f}j’ﬂf 2 f"@’% EEHAES eRRnREosER | 379 42,592kW
2 SF V—=Z—=70rT47T EES 7 TA HE T A 12 v oy LR —
3| Ml —sa iES 5T e E 1z e p =TT 246 | 47,041kW
4 PN Y =y7 EES [y —— Y i IR 6/
5 FJ ~ TUFLTA EES 190 ig 7i~uﬂ\;F : ig % :1?1 L?{-/;T ;;l% ERRAD- BRp R () 201 | 62,805kW
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